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testbenchl 1R

‘timescale 1 ns/1 ns
module testbench1();

J/ AN A
regclk ;
reg rst_n;

//uut ARG 5
reg enable
reg datain

/faut (AR S

wire f ;

J BN 3, BAALA ns, AT TERCAE SN B R
parameter CYCLE =20;

IEALIE], eI R B AL 3 ANl ] 31 et 1]
parameter RST TIME =3 ;
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verilog4 u_verilog4(

.clk (clk ),
Ist n (rst n),
.enable (enable),

.datain (datain),
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I/HE A Hi sy 50M
initial begin
clk=0;
forever
#(CYCLE/2)
clk=~clk;
end
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initial begin
st n=1;
#2;
rst n=0;
#(CYCLE*RST TIME);
st n=1;

end

//enable

initial begin
#1;
enable = 0;
#(CYCLE*RST TIME);
#(10*CYCLE)
enable = 1;

end

//datain

initial begin
#1;
datain = 0;
#(CYCLE*RST _TIME);
#(CYCLE);
datain=1;
#(CYCLE);
datain = 0;
#(CYCLE);
datain=1;
#(CYCLE);
datain = 0;
#(2*CYCLE);
datain = 1;
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#(2*CYCLE);
datain = 0;
#(CYCLE);
datain = 1;
#(CYCLE);
datain = 0;
#(CYCLE);
datain = 1;
#(CYCLE);
datain = 0;
#(CYCLE);
datain=1;
#(CYCLE);
datain = 0;

end

endmodule





